® o 0
THERMARTRU
£+ B ud
DOORS L ped o
TR
Classic-Craft. goo Ug
QM 8 o
Pt B
l'ﬁ Za ° S
¢ 592 Bp
£
OPAQUE FIBERGLASS SINGLE DOOR 8
w/ DIRECT SET SIDELITE(S) £
jSle]
INSWING " . | 8%
"NON"M PACT" - 71.75" MAX O.A, FRAME WIDTH ——] BD:§ z"%
15.5" MAX. 37.75"MAX __ To | S5
FRAME WIDTH I‘FRAME WIDTH %g A = o
92 |5 B
//// ! //// H@ 2 :(’E":‘
/ / ElY e Ca
3 S| &4
Sl |g &
g 5
e &
<5
EVALUATED FOR USE IN THE STATE OF TEXAS 3 g O |I§ elll O
The Fiberglass Door system described herein complies with the 2018 International b= X ©
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code N é
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions: 2
o
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment to %
base material shall be beyond wall dressing or stucco. / / |
2. When used in areas requiring wind-borne debris protection this product is required fo be Y /
protected with an impact resistant covering that complies with Section R301.2.1.2 of the § )
IRC and Section 1609.1.2 of the IBC. o
3. Allowable design pressure requirements must be equal o or less than the design pressure ' "
rating shown in the design pressure chart, sheet 1 of this drawing. B
4. Conditions not covered by this drawing are subject to further engineering analysis. O
O
2X DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF) <
TABLE OF CONTENTS CONFIGURATION | REINFORCEMENT w/ FJ PINE JAMBS w/ COMPOSITE JAMBS oate: 1/06/21
SHEET # | DESCRIPTION SHEET # REQUIRED o NTS
1 Typical Elevations, Design Pressures & General Notes 6 Vertical Cross Sections POSITIVE | NEGATIVE | POSITIVE | NEGATIVE —— : RW
2 Door Panel Details 7 Frame Anchoring . BY:
3 |Sidelite Panel Details 8 | Hardware Details 4O, OX. OXO NO +55.0 -60.0 +35.0 -45.0 cHk. BY:  LFS
4 Elevations 9 Bill of Materials & Components P DRAWING NO.:
5 Horizontal Cross Sections YES +70.0 -75.0 +60.0 -65.0 TX-5152

sheer _1 oF _9

ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonimp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5152-53.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.




ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7* & 8' CC Opaque FG Nonlmp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5152-53.dwg

- 1.48" |

04— |=—

IS
- ]
~ ]
il
OAK CAP HINGE STILE
(WOOD)  (ENG. WOOD)

m HORIZONTAL CROSS SECTION

\2/

36.0" MAX.
DOOR
PANEL WIDTH

R

79.25" MAX. DOOR PANEL HEIGHT

*

q

—f 55

>

‘ DOOR PANEL
BOOK

"Classic Craft" SERIES DOOR PANEL

FIBERGLASS DOOR SKIN: 0.095" MIN. THK.
FOAM CORE: POLYURETHANE FOAM (1.9 PCF MIN.)

4"

R
f
g;i

/
LOCKS

(ENG. WOOD)

/"2 "\ HORIZONTAL CROSS SECTION

i —1.39"
' | |os 031" ——
= RS
] - —
L N
L~ b [
i / \
LOCK STILE OAK CAP OAKCAP  HINGESTILE
(ENG. WOOD) [WOOD) (WOOD)  (ENG. WOOD)
\2/
35.813" MAX. 35.813" MAX.
PANEL WIDTH PANEL WIDTH
B | /7 | _
vo\2/
T =
O (Y}
z Z
< <
o. a.
S C) i & e i
o) o)
a 0] A ®
5 X 1o X h
< <
pa =
Q 3
3 &

>

’ DOOR PANEL
Hybrid Door

>

. DOOR PANEL
U1l Door

/3" VERTICAL CROSS SECTION

[
/

TILE OAK CAR

as?
IS

.
-

o

.

: H

» .
-
°
H
H
¢
*

* *

@N\\\\\}Xul}

-
rareeesy

LYNDON F. SCHMIDT

rrevans

reEnote

srnensernd

104123

o
“hennt : ~"“‘G o
1S4 e
X et
‘"

Tndae™

xx@.,
o

€0,

o%;»i‘

g,
A
-

-7./‘2_'/

Lyndon F. Schmidt, P.E.

(WOOD)

| o9 |-

I/

<

(o]

* T———FOAM CORE—[

./

T ———reerotass— ||
: SKIN

% :

o +

S L T —somomrar—""II:

} (COMP.)

-~ 17" ——

—] 094" |=—

/“ 4\ VERTICAL CROSS SECTION

\2/

\2/

TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

THERMA—TRU

FIBERGLASS DOOR
DOOR PANEL DETAILS

PART OR_ASSEMBLY:

PRODUCT:

NOJ DATE

REVISIONS

paE: 1,/06/21

SCALE:

N.T.S.

DWG. BY:

RW

CHK. BY:

LFS

DRAWING NO.:
TX-5152

SHEET _2 OF _9

© 2021 R.W. BuiLbing CONSULTANTS INC.



1
Y
112 ——  |=—1/2" GLASS BITE 88, f«
E; @ nk]
L O ) z ":
4 oogn 2y
4 weo S b MY
7 53 Eg8 22
PVC INSERT 1" OA THK. GLASS ER Z28 00
G1)G2 [ "OATHK. * 355 g
BACKBEDDING wxix Rl Z2ob 5k
COMPOUND ™ 1/8" TEMPERED ——|  }=—1/2" GLASS BITE et § S8R ER
| / GLASS § % 8 . §3
o =0 ©
% 18 GA. X 1" BRAD NAIL ==‘\— g 3ot Zk
(LOCATED 1-1/2" FROM ENDS -
) & 4' O.C. THEREAFTER) T \ AR SPACE PVC INSERT ——3/4 O.A. THK. GLASS P xR i
O
1/8" TEMPERED BACKBEDDING :
COMPOUND STEEL SPACER 1/8" TEMPERED
GLAZING STOP (7/16" L " ous
1"\ HORIZONTAL CROSS SECTION e 18 GA. X 1" BRAD NAIL T~ o
\y GLAZING DETAIL (LOCATED ]'” 2" FROM ENDS AIR SPACE <=(’
Gl 4" O.C. THEREAFTER) x kS
1" Insulated Glass & it 1/8" TEMPERED 38 &
x
BACKBEDDNG — [ CLASS Zi sy 2
- 15.5" MAX. COMPOUND STEEL SPACER 22 |3 &
FRAME WIDTH TSI Il Y
" GLAZING STOP (7/16') I |of 1
13" MAX. 5|3 5
D.L.O WIDTH o 25 E
G2)-SLAZING DETALL 2 S| &
| 7 3/4" Insulated Glass S k
Va & &
! >
m
AIR SPACE AIR SPACE
T 1/8" TEMPERED 1/8" TEMPERED 1/8" TEMPERED 1/8" TEMPERED
= = - GLASS GLASS GLASS GLASS
o 8 \3/
T L V)
Y 9 X 3 4 Z 5
< : n t =5 g_)
& 2 O EXTERIOR p INTERIOR 1" O.A. THK. GLASS — - @ % 3/4" O.A. THK. GLASS o % =
% < Y Y &
: 2 STEEL SPACER = STEEL SPACER =
z n
y 9 GLAZING STOP L ___i GLAZING STOP '\ ___i
3 (716" (7116
33 A ? L
(] BACKBEDDING BACKBEDDING S
, A SIDELITE COMPOUND SIDELITE COMPOUND .
y o]
7 A I/ ADAPTER ADAPTER S
/ L }
= ... GLAZING DETAIL GLAZING DETAIL DATE:_1,/06/21
1" Insulated Glass 3/4" Insulated Glass SCALE:  N.T.S.
{ 2 ) Dwe. BY:  RW
cHk. By:  LFS
/" 2"\ VERTICAL CROSS SECTION e
@ DIRECT SET SIDELITE FRAME \3/ TX—5152
SHEET _3 oF _9

ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonlmp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5152-53.dwg

© 2021 R.W. BuiLbiNGg CONSULTANTS INC.



TON] SANVLINSNGID SNIQNH "My L1202 @

ZS8LL—d # NOLVMISIORN 40 3LVOLLLNAD SNOISIA3A
SHIINIONI TYNOISSIHONd 40 QHVOS SVXEL SNOILYATTI Ad 3ivd TONJ ~ =|0 9_
cacarola NI
LBL6'6S9°CLE TON SuOud : N & 0
G6GCE 14 OSHIDA 0£Z xog .O.m\sug ‘ATHNISSY HO Ldvd % TNI ~ s s
"ONI ‘SINVLINSNCO ONIQTINg N il I B - 4_
¥00d SSY19438l RS
CZTLYOL# “F'd SvXAL NAL—-YNITHL i M slulE m
“F'd WILYOS "4 UOPUAT  :Ag paupdeiq sjuswnoog *LONQ0Xd HEIHEE &
=)
]
Lo
%, 1 i
g7 2 =
2 . e “w
2 LOINHOS 4 NOANAT & W
G g ==
¢ 2 S TE - =
/R k¥ < <
G, O, P Y Z Z
-M.~ MA,N...:.....M ,&;M.,...bt io 280
Nwww.w..,.uwmnmﬁﬂ(f = B QAN
b ar o
5 S|.¢8
& 8 fdng
< Sf|8%
3 2 AEE
[2 4 T
<
T
@ Z O | &
3 | 2
~
N b g | &

ELEVATION
0)(0)

/
(3
\&/

o
/

SEE HARDWARE CHART
NS

(D
&
\

T TR

¢ ////

v
/4
N

1d

Classic Craft Door Panel Opfions
Panel options shown are for illustration and are representative only
(similar opaque panel configurations are allowed)

obe

ELEVATION
XO

Bmp £5-25L5-X1\sBuImeIq - D\(£515-2615 XL SBHIPPIS 185 4@ St dwUON D4 anbedD 33 .8 18 £ 8.9 - XXX ¥Q - 1QL\sul J0 31daq sexal - \LNINVINYId N1 euIsy\SISD\NZ



CONE BANVLIINSNDOGG aNIGTHNE "M's L2202 @

ZSBLL~4 # NOUVMISIONY 40 ILVOLILNIO SNOISIATY
SHIINIONT TYNOISSI40Hd 40 QM¥VOS SVXEL mzwﬁw@mﬁmmmmmo Ad divd [ON|~— = |0 Qm
. . I o Cu. helg N
LBLE°6GO'CLE ON euoyd : ) 0
coces i o ey \Sug. KIGN3SsY 90 1uvd W = I L
“ONI ‘SINVLIINSNOD ONIaiNg < e | 5_
400q SSy1943814 = lglgle x
SZLYOLF '3'd SVXEL NAL—-YAYIHL pl9l sl g|2 ]
‘3'd IPIUYOS ‘4 uopuAl :Ag peibdeuay sjuewnsogq 110N40Nd = m ZlE w =
o~
L]
—
O % >
o
ol
- W€
d )
(7]
P S
3
Ole
- |
O
& 58
$1H5
S
Qio
iS5
~
™~
‘” | =¥ (A0

OO0
\

CED\ ] / EXT. SHEATHING

2
EXTERIOR

/i

D}

A\Y
W

1
/ 2"\ HORIZONTAL CROSS SECTION

EXTERIOR
INTERIOR

1/

-,
2
S 6 Pdee ™

/3" HORIZONTAL CROSS SECTION

w Shown w/ 2X Reinforcement

7
e

m HORIZONTAL CROSS SECTION

W
W

DS

EXT. SHEATHING 0.15" C-SINK
\ I e
DRYWALL & é

Bmp'es-2SLS-X1\sBumeq - D\(Z51L5-254S X1) SaBPIS 39S 41 S| dwUON 94 anbedO 1,879 .L ‘8.9 - XXX ¥Q - 1G1\su| 0 1daq sexal - \LNINVINYId NiL BULIBY\SIUBID\Z



TONG SINVAINSNGOD 9NIaTINg "m°'d LZ20e @

2681 1—d # NOIWVYISIORM 40 ILVOLUNID SNOISIAZY
SHIANIONI WNOISSIIONd 40 QiVOE SvX3L mzo@%%%mw\momo A8 31vd [ON|— = |0 9_
‘acoelg - QalZie|
LB16°689°C18 "ON suo : : 0
ceses oy ot e o \Suwﬂ KIEN3SSY 90 1avd W = == ks
"ONI ‘SINVLINSNOS ONIaTING N g 1 6_
4000 SSV19434ld = |&lgle =
SZILyOL# “F'd SVXAL NeAL=VYAH3HL g w syl ]
‘Id .uEE..._om *4 uopuk :Ag peusddeld sjusuinoog 10Naoyd 513 W 5 w 5
/2 \\
., s L
- 5] e
L) 1 E z o)
Hﬂﬁ»mmﬁﬁ(). ﬁ m nhNbu
= 0O =
]
: ©0):
] - ®
f . “
()
- U = o
. <=
B Dm . ..ﬁlb nMuvu
Elc
= 5e
3 ®
oc
ol i~ o
& g oz
> & &
N ..“w P
o
o
9]
Y M
8]
=
N &
/ R @ 5
\ g (e
@ =
3
<
z
-
[+ 4
o)
LLy
=
)
Q 2
Q O
= O
og S
®) |0
oc
L
5<
O] o

N

7“3\ VERTICAL CROSS SECTION

W Inswing Sill

/ EXT. SHEATHING
/“Y

INTERIOR

(@)

\\

/1 "\ VERTICAL CROSS SECTION

INTERIOR

DRYWALL—\  :
000

1. Sill ltem #'s 32 & 33 are attached to jambs
w/ {3] #8 X 2-1/2" FH screws at each end.

Note:

BMpPreg-2S1LS-X1\sBumelq - D\(Z51L§-2515 X1) SaMPPIS 39S 41 S| dwuoN 94 anbedO 22 .8 1 . ‘8.9 - XXX ¥Q - 1AL\su] 40 3daq sexa] - S\ININVINYId NL BuBYL\SIUID\Z



e *:aﬁ:@&%,{ R
p— .-“"5 9 2,995 _§
= 5:‘3’ B Dim o k £s b uyx
} L+ T ‘ﬂ‘c}:?(:(fj ER : . w9 " G'I'
;’O;*\wu_@ N e Z N fu
{ N b LY e ‘\-, c ;2w
? Poh, 101 3§ £ 32 2z
(3) #8x2-1/2" [Gis . iz S 5F EiB g8
PFH WS i *{{x 5 7e® B>n @é
o Qw©
e 30 JAMB TO HEAD DETAIL vl 5 B8R go
14
1 o POgE, by
[} . £
TOE-NAIL DETAIL @ HEAD § 392 B
JAMBS/ TYPICAL @ EACH 2X REINFORCEMENT o 33
) . MULLION G JAMBS/ 2 =
4 (TvP) 4 (TYP.) —] ) MULLION I 47
i [ eomis L e R
2 * 4" (TYP.) —] ; e
1 T T [T} P T 1
S =
| \ | 2| 2
i = o |5
: - - - - £ =% |13 =
- B - ;; e Eo =1
HEAD & JAMBS =
HEAD & JAMBS / (TYp.) L
o
(TYP.] _ 2X FRAMING — _ | 9 S
] (TYP.) 2 ke
0. 0.
_BACK-TO-BACK || | . _||| BACKTO-BACK . ] &
2X REINF. R // 2X REINF. s
(TYP) %e (TYP.) IE
e DOOR FRAME 50
WOOD N % 8 (TYP.) - - woob T - ~ 0 .
<
CONCRETE CONCRETE A o
(TYP.) 2
SILL (TYP, ) — - S — SILL {TYP.) - - Q
1| — I [P, === \}\ ¥
/ %/\ ——| 30°
@ WOOD WOOD Q /\
o CONCRETE CONCRETE 0
N5 FLOOR SUBSTRATE MATERIAL {TYP.) (VP \ J: ___i i
(TP CONCRETE [MIN. 3000 PSi) : =
WOOD (5.G. >=0.42) 1 S
XO/0OX OXO WOOD @ = 2
oATE: 1,/06/21
CONCRETE o SCALE: /N T/s
FRAME ANCHOR’NG TOE-NAIL DETAIL @ SILL DWG. BY: RW
TYPICAL @ EACH 2X REINFORCEMENT oH. BY:  LFS
DRAWING NO.:
TX-5152
SHEET _7 oF _9

Z:A\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonlmp IS Dir Set Sidelites (TX 5152-5157\C - Drawings\TX-5152-53.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



*ON| SINVLINSNGG SNIGTNE MY LZ0Z O

ZSBLL—4 # NOLVMISIONY 40 ILVOLILNIO SNOISIATY i

SHIINIONT IWNOISSIAONd 40 AMVOa SYX3L SIVLIA FHIVMANYH Ad Jivd [ON Slolzlol o 9_

LBL6°6G9°CLB ION euo : @ Yl ©
GBGEE 14 OOUIBA OFT Wom O:M g@o ‘ATENISSY 0 Ldvd W M a3 A &
“ONI ‘SINVLINSNOS ONIaTING A g | 8_

HO0Q4 SSY19434dld —| 1E5|&Ele X
SZLYOLH# "I'd SWXAL NAL—VYAHIHL g M sluelE &
‘F'd IPIYDOS ‘4 Uopukl  :Ag peupdaid sjuswinood :10NAa0Xd HEIHHEE %

p
' =
A7 ]
wd x X
LAINHOS 4 NOGNAT 2 8 9
DR e v Q)
N2 & 3

>3

\
@1,
©

&)

HINGE DETAIL

@’
Hle—=f—1
AN

MEL o

-

GAVT 40 1 300a QaAH/ LN

dOLWOUd .GZ1"L L (dAL) .52 6T
aWVr 40 J00Aa Y009

dOLWO¥4 ST L L (‘dAL) ST 6T

N

HINGE JAMB

SEE HINGE
DETALL (TYP.)

~— (§'L ¥ .88y ——
WSS9 —~—

! (R kol ) i
I . . 7 —= . . 1

STRIKE JAMB
Latch and Deadbolt

DETAIL

SEE LATCH /

& DEADBOLT

8
SUB STRIKE
PLATE
22

25

LATCH & DEADBOLT DETAIL
Kwikset
1
LATCH & DEADBOLT DETAIL
Schlage
LATCH & DEADBOLT STRIKE DETAILS

BMp e§-25LS-XI\sBumeld - D\(LGLS-2SLS X1) SSHIPPIS 385 41 SI dw|uoN D4 anbedO DD .8 1 .L '8.9 - XXX ¥Q - IQL\su] jo 1daQ sexa] - G\LNINVINYId NIL BULIBYL\SIUBID\Z



—-—

i
BILL OF MATERIALS t? "
ITEM # | DESCRIPTION MATERIAL L - 456" b & E 2 2 g 8
B | 2XBUCK [G 5= 0.42) WOOD = | S A Su o8 &%
C | 1/4"MAX. SHIM SPACE - S e —— . \;jw- I woo ak by
D 1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL gg § g % 9% 2z
F__ | #10X2"PFH WOOD SCREW STEEL ———— Py 5P EE B2
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL (}é{ﬁp iz << Ko 2 Z g %’é
Q| #10X 3" PEH WOOD SCREW (1.75" MIN. EMBEDMENT) STEEL e s U %15 el § o8 &g
R | 3/16 X 3-1/4 ITW CONCRETE SCREW STEEL e 3 287 5.
X__| 2X REINFORCEMENT (3G = 0.55) WOOD (7 yHoobjans & 2 245 g
1| WOOD JAMB (FINGER JOINT PINE] WOOD = 456" - . s AL™ 38
2 COMPOSITE JAMB COMP 1 : P ‘_g ‘g g %
7 WEATHERSTRIP FOAM : £ @< % )
8 DOOR SWEEP VINYL §
10 #10 X 1-1/2" PFH WOOD SCREW STEEL 2 2853
1 #12 X 1-1/2' PFH WOOD SCREW STEEL ; 212" ?
22 #8 X 3/4" PFH WOOD SCREW STEEL
23| #9 X 3/4" PFH WOOD SCREW STEEL ({2 yCOMPOSTE JAMS x| 9,
24 | #9 X 1" PFH WOOD SCREW STEEL 28 | X2
25 #8 X 1-1/2" PFH WOOD SCREW STEEL 'Tm 5 E%
26 #8 X 5/8" PFH WOOD SCREW STEEL %g o 2%
27 | LATCH STRIKE PLATE STEEL Ug B 58
28 DEADBOLT STRIKE PLATE STEEL 5.83" - . H% 2 =%
28A DEADBOLT SUB STRIKE PLATE STEEL g s o
29 4" X 4" HINGE STEEL 8 E
32 INSWING THRESHOLD ALUM/COMP & &
33 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP >
40 DOOR PANEL (BOOK] - o
4] DOOR PANEL {(HYBRID) -
42 DOOR PANEL {U1) -
32 INSWING THRESHOLD
Adjustable Composife Sill
"
" 5
2.08" —=| %
I =
4
(] SIDELITE .
CONCRETE ANCHOR NOTES: ADAPTER <
. Concrete anchor locations at the comers may be adjusted to maintain the min. o~
edge distance to mortar joints. x
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors 1w
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. z
. Concrete anchor table: 0
5.83" -—
o
33 INSWING THRESHOLD w/ SIDELITE ADAPTER =
w T e 134 o p Composite Sil DaTE: 1,/06/21
TAPCON ) ‘ ScAlE:  N.T.S.
e I r ¢ o ov._ RW
TAg:tvON® i el ¥ -z §::;mf:: NO: L
WOOD SCREW INSTALLATION NOTES: ' TX—5152
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood. SHEET _9 oF 9

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonlmp IS Dir Set Sidelites (TX 5152-5157\C - Drawings\TX-5152-53.dwg

© 2021 R.W. BUILDING CONSULTANTS ING.



